
lTclvi 310 - Flane Surveying
EXAh'1#l [50 points total]

Ouestions I - 5: 2 points each

i. Ljst fbiir: tl'pes of surr,'e1,-s.

Name

&
'4w

w
a.

b.

.X t sta'ds tor, I{el* [. f:fr;te-q l* ':i uut n;q:'t .L
3. Wirat classification of surveying "best" describes the methods used in this class'/ fllint:

piuml'r lines are considered parallel in this classification.]
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4. Sr-rrve-ving is both alt afi aud science. What is '-art" and w'hat is "science" in survevins?
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-5. List five (5) types of infbrrnation that a surueyor would note or write in his or her field notes.
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Tire vaiues 12.91], 43 .71.4i.55, 46.10" ad 47 .6i t'eet rvere rneasureci lbr iire sanre
ciistance b-v difl'ererrt surr;eving crews. Calctilate the Ee6 valere and shoiry the
probable range of values. Sholv your work anci continue on the bacii of tlris sheer
if necessary.
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7 . (1 0 pts.) The profile or elevation view of two slopes is shown in the tigure beiorv. The
distances given are sioped or inclined distances. Calculate the total horizontal
distance (dashed lines) between points A-B and B-C. Sirow vour rvork. \
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Drawing not to scale
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(5 pts. ) 'fhe lequiled reiative accuracy for a geometricallv closed differential leveiing survey'
ilr i:5.000'. if the leveliug suneyperimeter (horizontal clistaurce) is 750.000 {.-eet. rryhat is the
m:iximum error of closure for the circuit to 0.001' significance? Show ]tour u,rrit.
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(5pts.)Determinethevaiue(mmefigureslrownbelowtoan
acclrrac\/ of 0' 00' 01 ". Show tire formulas used and your rryork. lHint;triangle ABC cloes not
contain a light angle.]
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i {i. ( 1 {} pts. } Tc'r determine the distance between points A and B on the oppositc sic{es of a ri'er. a
sLu:\rel/or measures a distance of 450.00 fuet betr.r,een points A a1cl Ll. rvhere tt is set on t6e
same iiide of the river as A. Angle A is measured to be 59"1-5' ancl angle C is rneasured to be
4--i"lj'. ComputethedistanceoflineAB(alsocanbedenoteclasline'c'). Show,the
i'i:rrnulas '.rsed and vour w'orlt. lHitt:; triangle ABC cloes not contain a right angle. I
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